il & ﬁm CIGERSED ﬁ%‘«’[ / Important Instructions for the candidates

HUAT e IR 51 W Ugd Fafiad Fdsi & e 9 ug ok afe #1g Rdnwy A gt
Tdefeh A YU bR |

Please go through the following instructions carefully before start of the exam and contact
the invigilator if any of the instructions is not clear.

1. U8 UIeM HUeR ST U1l 8. IR HeR B g WA i |
This exam is computer based exam. Answers must be filled in computer only.

2. Uy ue fgumdt g1 fpaht oft TIide o) fRUfT & 3i7Sh Tvapvor & Uy |- 81T |

Question paper is bilingual. In case of any doubt, question in English version will be
valid.

3. SUWIENH 110 SgidHedid a¥g-S UHR & U BId & | ISTHINT J Faifdd Uy
U¥ 101 ¥ 110 dF g

This exam consists of 110 Multiple choice objective type questions. The questions
related to Raj Bhasha are from questions 101 to 110.

4. vaffay &) fH=gf 100 U4l P IR 3 §1 afe 1S 3naeff 100 T 31w Ui & IR ST
g, O Ot fufay & uga 100 UaT fohw 11U Uit &1 Yot farar Simem |

Candidates have to give answers of any 100 questions. If any candidates give
answer to more than 100 questions, in such case the first 100 attempted questions will
be evaluated

5. TAd TR & ol PIg TPRIHP 3P T8l gl

There is no negative marking for wrong answer.



South East Central Railway, Bilaspur

Selection for promotion to the post of Prob. Accounts Clerk against 25% Departmental
Promotional Quota in Accounts Department, SECR, 2024.

Date: 02.08.2024 Total Marks: 100

e Uy T3 1 9 5) Reg T B WY |

Directions: (Q No. 1 to 5) Fill in the blanks.

1. The Indian cricket team won the T-20 cricket world cup.
(a) have (b) has
(© is (d) was
2. The President is to Russia next week.
(a) going (b) went
(0 left (d) gone
3. Thejudge has to reduce her sentence.
(a) refused (b) refuse
(c) refusing (d) refuses
4. He left the city just sunrise.
(a) beyond (b) before
(0 behind (d) beside
5. Indiais ___ democratic country.
(@ an (b) was
(0 a (d)y  the



fe=m-Fd=T oy T 6 9 10 ): 3T T geraRl/deradl &1 o g |

Directions (Q. No. 6 to 10): Choose the meaning of given idioms/proverbs.

6. " Cut to the chase”

(a) To end a conversation abruptly

(b) To get straight to the point

(c) To avoid confrontation
(d) To finish
7. “Break the ice”:
(a) To make a bad situation worse

(b) To establish a friendly atmosphere
(c) To start a fight

(d) To melt the snow

8. “Catch someone red-handed”:
(a) To see someone with red paint on their hands
(b) To accuse someone without evidence
(©) To catch someone in the act of doing something wrong

(d) To notice someone blushing

9. “A piece of cake”:
(a) A simple task
(b) A tasty dessert
(c) A difficult challenge

(d) A small slice of bread



10. " Under the weather”:
(@) Feeling healthy
(b) Feeling sick or unwell
() Enjoying the rain

(d) Feeling energetic

fe=m-Fder: orer TReam 11 1 15) &) a1 T e I |

Directions: (Q No. 11 to 15) Choose the correct spelled words.

11. (a) Bureaucracy (b) Buearucracy
(c) Beaurocracy (d) Buoracracy
12. (@) Inconvenice (b) Inconvenience
(c) Inconvinence (d) Inconvenince
13. (a) Consigne (b) Connsigne
(c) Consignee (d) Consigni
14, (a) Hierarchy (b) Hieraarchy
(c) Hieriarchy (d) Herarchy
15. (@) Athiist (b) Athest
(c) Athist (d) Atheist



fE=m-FE=r: (e TRem 16 ¥ 20) faw 70 <reat & faey a1 fausia ol arel 2rsg g |

Directions: (Q No. 16 to 20) Choose the word opposite in meaning or antonym of
given words.

16. RELINQUISH

(a) Abdicate (b) Renounce

(c) Possess (d) Deny
17. FRAUDULENT

(a) Candid (b) Direct

(c) Forthright (d) Genuine
18. FRESH

(a) Faulty (b) Stale

(c) Sluggish (d) Disgraceful
19. REPRIMAND

(a) Compliment (b) Apprihend

(c) Blame (d) Reproach
20. COMMON

(a) Rare (b) Small

(c) Petty (d) Poor

fe=m-fAd=r (my e 21 9 25) T sg g o1 T U Wsal/dTe & RIF W TN
ICRIEIRED

Directions: (Q 21 to Q. 25) Choose one word which can be substituted for given
words/sentence.



21. A person who thinks only of himself
(a) Egoist (b) Eccentric

(c) Proud (d) Boaster

22. A life history written by somebody else

(a) Archaeology (b) Ornithology

() Anthropology (d) Biography
23. A thing no longer in use

(a) Redundant (b) Obsolete

(c) Sick (d) Obnoxious
24. One who does not express himself freely

(@) Ambivert (b) Extrovert

(c) Introvert (d) Vertebrate

25.  One who is unable to pay his debts
(a) Insolvent (b) Lunatic

(c) Amateur (d) Arbitrator

fe=m-fAd=r: (my T 26 ¥ 30) U U Wsal & TEM 31 arel a1 FHERI Weg g |

Directions: (Q No. 26 to 30) Choose a word similar in meaning or synonym of given
words.

26. Fostering
(a) Safeguarding (b) Ignoring
(©) Nurturing (d) Neglecting



27.

28.

29.

30.

31.

32.

Cancel

(a) Abolish (b) Approve

(c) Allow (d) Break

Jealous

(a) Proud (b) Happy

(c) Envious (d) Greedy

Accuracy

(a) Attachment (b) Precision

(c) Agreement (d) Cleverness

Massive

(a) Huge (b) Little

(c) Strong (d) Gaping
Ydteman &1 Adad &:

CPRO stands for:

(a) H’@—Tmﬁaﬂ 3MfYBRT / Chief Personal Relational Officer
(b) H@W 3fYBRT / Chief Public Relational Officer

() It o X SUBRT / Commercial Paper Rating Officer
(d) G{?H&[W M/ Chairman Public Relational Officer

Fofied & & &1 91 e Yad § Srde™ Td feee ol 9 9efia § 2

Which of the following organization deals with research and design works

in Railways ?
(@)  3RSEH3(/ RDSO (b)  3RUASIT/ RLDA
(¢  3RAITATT / RVNL d)  SESARTEBH / IRFC



33.

34.

35.

36.

Yo a1e H fax e & Ue & T PRI AT § 2

The head of finance department at the Railway Board is called ?

(a) HYE (ﬁﬁ) / Chairman Finance (b) ﬁﬁﬁ%&’@/ Finance Director
(¢  Tad 9A8PHR / Finance Advisor d) e (fdc) / Member Finance

A AT HAN P E ?

Who is the Minister of Railways presently ?

(@) oY 3% WG / Shri Ashwini Vaishnav

(b) 41 HAS R¥T/ Shri Manoj Sinha

(c) %ﬁﬂ?ﬁﬁﬂﬂT?ﬂﬂRﬂW/ Smt. Nirmala Sitharaman
(d) 4t Iad Rig / Shri Ravneet Singh

3TSIRTHATY BT AdAd o
IRMS stands for:

(@) YR ¥dd Ye8db ¥dl/ Indian Railway Manager Service

(b) WWW@HT/ Indian Railway Ministerial Service
() YR Y4 faer™d 4T/ Indian Railway Merger Service

(d) YR Yd J&8= 9T / Indian Railway Management Service

YR Yerd # fobe S 2

How many zones are there in Indian Railways ?

(a) 14 (b) 19
(©) 22 (d 16



37.

38.

39.

40.

T Y04 HHIR! DI UAD B TS & fbar fali &1 3iigd 9 ST U gran g ?

How many days of Leave on Average Pay (LAP) is provided to Railway employees
every six months ?

@ 10137/ 10 days (b)  15f&T/ 15 days
©  30fa&d/30 days (d) 451/ 45 days
2T gd e Yed & IHH HeTUsed B g 2

Who is the present General Manager of South East Central Railway ?

@ &t 3fTclid HHAR / Shri Alok Kumar

(b) G I AT/ Ms. Neenu Ittyerah
© & 3d $HR WS / Shri Anil Kumar Khandelwal
(d) ﬁ%ﬁw %ﬁﬁlﬂmﬂ/ Ms. Roopa Srinivasan

YRAR Yod H bl 31 & 1Y Jobdl JATa- 98 o UTARId 1 T HgT STl § ?

Percentage of gross working expenses to gross earnings in Indian Railway is termed
as’?

(a) af=Ted 3{UId / Operating ratio (b) foa 3{UId / Finance ratio

(c) &I'Iﬁqlﬁliﬁa\_ﬂ'c'/ Proportionate budget (d) Eﬁﬁaﬁg:@/ None of these

ST Xed GURTeI Hgl (A @ ?

Where is the National Railway Museum located ?

(a) PHIABIAT / Kolkata (b) % faedt / New Delhi
(c 9%/ Chennai d) SR/ Srinagar



41.

42.

43.

44,

1853 T YRd &1 Ugat AET ¢ b ¢ R Iams s I 2

On which route was India's first passenger train run in 1853 ?

(@  Kolkata-Chunar / ®IA®IAI-gAR ~ (b)  Agra-Delhi / 3TRI-faeait
(c) Bombay-Thane / Sra-3T0! (d) Bombay-Vadodara / Srra-ggiexT

frafafad & & ®F d URd & I4g TR fae RId &1 UeRid & & e e &t
T U Yded Afbe g ?

Which of the following is a tourist circuit train started to showcase India’s rich cultural
heritage ?

(a) YR TRa / Bharat Gaurav (b) d¢ YRd / Vande Bharat
(c) @Eﬂﬁ'@'ﬁf/ Festival Special (d) Sidd HRd / Vibrant India
Oy T I SAA YA S AT B ?

Which is the highest rail bridge in the world ?

(@) LIRS Ydl, YIRS / Ganga Rail Bridge, Prayagraj

(b) 99 d Yd, 99 / Swiss Rail Bridge, Basel

(c) ERIEEG] gd, ﬁ‘qﬁ/ Chenab Rail Bridge, Reasi

(d) P WIE ¥ Ydl, Rl / Black Forest Rail Bridge, Bruchsal

g oy Y@ aoie & Hg soie § fiyern foar man 2

In which year Rail budget was merged with Union budget ?

(@) 2017 (b) 2010
(c) 2015 (d) 2020

10


https://en.wikipedia.org/wiki/Bruchsal
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45.

46.

47.

48.

49.

Hie ®ia Tadt wgl Ry g 2

Where is Modern Coach Factory located ?

(a) IRIU / Varanasi (b) gfeaTdn/ Patiala
(c) ISt / Raebareli (d) aaa‘/ Chennai
3T 3R TART Bt TS Hal U € ?

Where are Ajanta and Ellora caves located ?

@ TSR/ Gujrat (b)  SfifS=T/ Odisha

(c) HERIY / Maharashtra (d) HWEI%{QT/ Madhya Pradesh

fFofefad # 3 oI d Wi=re AedfhT dedrge T8l § 2

Which of the following is not a social networking website ?

(a) W/ Facebook (b) M / Instagram
(c) ﬁ?? / Twitter (d) [ITel / Google

HYP, Hrags], AifgTiercH 378 I frae! SierT-3re faums 82

Kathak, Kuchipudi, Mohiniyattam are different forms of ?

(a) -] /Dance (b) G /songs
(c) H_E»;F\‘:IH /Festival (d) R /Monuments
IS HeTd faaw e HH S | 2

National Voters Day is celebrated on ?

(a) 26 \_rl:laﬂ/ 26 January (b) 26 IdsR / 26 November
(c) 25 At / 25 January (d) 15 3T / 15 August

11



50.

51.

52.

53.

54.

oy g & Tt Sifes ST I E 2

Which state has the maximum number of national parks ?

(a) T U / Madhya Pradesh (b)  BNG / Chhattisgarh
(c) YRWS / Jharkhand (d) CRG / Kerala

RPed I FHufaRad 7 Q& ot 7d) Readi g 2

Which of the following river originates from Amarkantak?

(@)  §ddl/Betwa (b)  dEd / Chambal
(c) IIEFEOI/ Mahanadi (d) W/ Narmada
fFoffla i PH-TTaeEu T8I 8 2

Which of the following is not a continent ?

(@  URM/Asia (b)  S{BIT / Africa
(©  Jifaad ¥/ USSR (d) Y/ Europe

faffad & @ P-ar Tdeig Sef e @ 2

Which of the following is a source of renewable energy ?

(a) TR Wf/ Solar Energy (b) AR / Coal
(c) Wﬁﬂ/ Natural Gas (d) ﬁl_gpf aﬁ/ Kerosene

HRA & IHH T TR D1 § 2

Who is the present Chief Justice of India ?

(a) oft 3. T:ﬂ'aF W/ Shri D. Y. Chandrachud
(b) & XS TS / Shri Ranjan Gogoi

(c) %ﬁﬂ'ﬁﬂH@ﬁT/ Shri Sanjiv Khanna

(d) oft gfkeig dt. / Shri Harishchandra P.

12



55.

56.

57.

58.

fFafaRad | 9 forg HRA Wdadr I &1 HETHAT B IUITY I TaTSlT 797 U7 ?

Which of the following Indian freedom fighters was conferred with the title of
‘Mahamana’ ?

(a) HETH el / Mahatma Gandhi

(b) wiTd Rig / Bhagat Singh

(c) Ilﬂ:lrﬁ%qmﬂﬁﬁq/ Madan Mohan Malaviya
(d)  TIGTHTS ARSI / Dadabhai Naoroji

el St 7 5T 3reias & B T A=Y o1 AR7 fear Ut ?

Gandhi ji gave the slogan of ‘Do or Die’ in which movement ?

(a) ‘H'R“d%ﬁ@[ B'I"I'C?Iﬂ:[/ Quit India movement

(b) S EANT 3figia / Non-cooperation movement

(c) gfag S{A3l 3113:]?17[/ Civil disobedience movement
(d) E%W &ﬁaﬂ?/ Boycott movement

TG 379 T for g T & 1Y el T Irer T8 Far g ?

Chhattisgarh does not share land boundary with which of these states ?

(@) HERTY / Maharashtra (b) 3NfS=M / Odisha
(©) PRI S/ Jharkhand d)  Bd/Kerala

foffad & ¥ o W SR IRRY S FRUTET§ ?

Which of the following disease is caused by a virus ?

@)  HdRAT/ Malaria (b)  UIAAEI-USH / HIV-AIDS
() &9/ Cholera (d) Eﬂjﬂﬂ?ﬁﬁm / Tuberculosis

13



59.

60.

61.

62.

63.

HIgaT, ER1, YbTee IHt fbgd wu g ?

Coal, diamond, and graphite are forms of ?

(a) HI& / Carbon (b)
(© i / Helium (d)

IRHSE | 570 ¥ 5y T 1 A Tey 31l | 2

f&ferpi / Silicon
?Zf{ﬁ'qﬂ/ Uranium

Atmosphere has the highest composition of which of these gases ?

(a) ATgCIo / Nitrogen
(c) W@'ﬁt&yﬁﬂﬁg/ Carbon Dioxide

PHH-TT I FHE AaHIHE TguIdhd & ?

Which blood group is the universal recipient ?

(a) O+
(c) A+
o i AP M eRa g ?

Which of the following is a greenhouse gas ?

(a) HaT / Methane
(c) Heh @Eﬂﬁﬂ@/ Sulphur dioxide

IRANR fPa Tu # R g 2

Charminar is located in which state ?

(a) e U/ Madhya Pradesh
(c) AQTHT/ Telangana

14

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

SIS / Oxygen
el diY / Water Vapour

AB+

iRt/ Oxygen
\’rl'ITT:T/ Argon

N6/ Chhattisgarh
TdT / Goa



64.

65.

66.

67.

68.

YR o1 P g e ?

What is the State emblem of India ?

(a) WW@EW/ Lion Capital of Ashoka (b) Wiﬂﬁq/ Sanchi Stupa
(© HHA / Lotus (d)  dcg& / Banyan Tree

FAfEd & ¥ D9 A1 3UE R BT U ¥ T8l § ?

Which of the following is not a form of Indirect tax ?

(a) ICEAERS / Sales Tax (b) a¥d ] T B / Goods and services tax
(c) S{IDH / Income Tax (d) W%W/ Value added tax

IAA® iTe [y faema & fo w1 erar g ?

UNICEF is an organisation which works for whose development ?

@) URTd<d / Archaeology
(b) W@TW/AN and Culture

(c) @F‘[/ Sports
(d) = 3R fpaR / Children and adolescents

g™ TR AU B} SIS AT ?

What is the unit to measure the sound level ?

(@)  BSl/ Hertz (b) SRS / Decibel
(c) dlc/ Watt (d) V[cT / Joule
el b et et B BRUTEIA B ?

Night blindness is caused due to the deficiency of ?

(@) fAe™ ™ T/ vitamin A (b) et/ vitamin B
(  faerff@ 3t/ vitamin C d) e St/ vitamin D

15



69.

70.

71.

72.

73.

g, 3aidei 3R e fhuet fewan g 2

Protons, electrons and neutrons are parts of ?

(a) Eﬁﬂﬁ/ Boson (b) ATHD / Nucleus
(c) WTEFETUT dd / Gravitational forces (d) URHIY / Atom

i T DI UfhdT BT RT P8 @ ?

What is the process of breathing called ?
(@) %%/ Respiration (b)  dYUT/ Precipitation

(c) HA™NT / Excretion (d) Ul / Digestion

3 T 2024 T SRS Pl a7 @1 2
Olympics Games 2024 is being organised at ?

(a) E“i\;rl'll, T’«ﬂ:[/ Beijing, China (b) aER?ﬁ NI4T / Tokyo, Japan
(©) Uy, Wi / Paris, France d) 8 fewh, YR / New Delhi, India
ITR Ui YAd BT AT Hal (Ud § ?

Where is the headquarter of North Western Railway located ?

(@)  SIEAYR / Jabalpur (b) TSR / Bilaspur
(©  SUR/Jaipur (d)  SUYR / Jodhpur

i & ¥ & 91 Yed 377 31 T USR8l § ?

Which of the following is not a type of railway wagon ?

(a)  SiggdT / BOXN (b)  SI3MEIRTT / BOBRN
(c)  dftta/BCN (d)  SI3NEd /BTON

16



74.

75.

76.

77.

3 fedpe Wien ¥ Ry 379 ¥ iy JaTse o1 IUanT [T AT @ 2

Which of these websites is used to purchase Train tickets ?

(@)  3MTSIIRUTITH / IRPSM (b)  TIARTHTY / HRMS
(€  STSTHTHTY / IMMS d) ISR / IRCTC

R3S 3iffran & qllep T SR (dTeimga) @i foba fol & HiaR fobeit
&naﬁww%ma;g?

According to the RTI act, the Public Information Officer (PIO) has to respond to an
application within how many days ?

@  71&7/7 days (b) 15184/ 15 days
©  30f&9/30days (d)  45fa&d/ 45 days

15 O &1 ®IAd 120 TUY . afe It U7 & S THH 8 d 12 U9 &1 Jed I1d e ?

The cost of 15 pen is Rs. 120. Find the value of 12 pen if all pen costs the same ?

(a) 100 (b) 96
() 84 (d) 110

AR 2023 T YR BT da 10000 TG UT| a8 2023 H 3H 20% &1 If g3 3R
R SRt 2024 T IERT 10% BT gk §5 | SR 2024 T IR &1 daH fha1 g ?

Suresh'’s salary was Rs. 10000 in January 2023. It increased by 20% in July 2023 and
then further increased by 10% in January 2024. What is Suresh’s salary in January
2024 7

(a) 13200 (b) 15000
(0) 12900 (d) 14100

17



78.

79.

80.

81.

HigA BT 3G 15 ¥ § 3R I8 30 567 BI S A AT A ST R | 5 Y &1 3 &l Bt
3{Tg T U T G 2

Mohan is three times as old as his sister when he is 15. What will be the ratio of their
age after 5 years ?

(a) 1:1 (b) 2:1
(@ 3:1 (d) 4:1

& gHMER 25% AT S FXPb T fRAAHT 100 ¥UA H I &, af 39 FRya &1
AT el T @ ?

If the shopkeeper sells a toy at Rs 100 earning 25% profit, what is the cost price of the
toy ?

€) 920 (b)y 75
(© 60 d) 80

T Wd 1 d BE BT 4/9 HIT TS &1 P 125 ASfPbal 8| I8 fba dsd & ?

In a school 4/9 of the total students are boys. There are 125 girls. How many boys are
there ?

(a) 45 (b) 60
(c) 100 (d) Eﬁﬁaﬁg:@/ None of these

WABY: 38+ 04 (4-15)+04-12

Simplify: 3.8 + 04 (4-15)+04-12

(@ 6 (b) 4

() 2.4 (d) 4.8

18



82.  U®H qd- ateh & UM a1 & ofd H o1 siay | Fufarfad qeuar & gar e 3k Rgd
o B e & 3fd § I aereb P U o febet AR S 2

qie el & I R ! @ I=

¥. 500 AlC 4 5 30T & RIgh 5

¥. 100 AlC 12 2 ¥ & [adh 7

%. 50 AlC 8 1309 P Ryaepr 11

%204 2

%. 10 e 6
A pay clerk has the following denominations of currency notes and coins left in the
cash box at the end of the day. What is the total amount with the pay clerk at the end
of the day ?

Notes Number of notes Coins Number of coins

Rs. 500 Notes 4 Rs.5 Coins 5

Rs. 100 Notes 12 Rs.2 Coins 7

Rs. 50 Notes 8 Rs 1 coin 11

Rs. 20 Notes 2

Rs. 10 Notes 6

(a) 3800 %. / Rs. 3800

(0 4500 %. / Rs. 4500

(b) 4000 . / Rs. 4000

(d) Eﬁﬁ&ﬁg:@/ None of these

83. 6 faenfiai 3 ue GmR A 50 T A 37, 28, 46, 41, 19, 45 3ih UTd fobd | 3iehl BT 3N T

872

6 students secured 37, 28, 46, 41, 19, 45 out of 50 marks in a paper. What is the
average of their marks ?

(a) 40

(0) 46

19

(b) 36
(d) 28




84.

85.

86.

5000 ¥UT W 6% Ufd a8 Bt e I 3 I1d & forw JrerRor a1 fa=m gR 2

What is the simple interest for Rs. 5000 at the rate of 6 % p.a. for 3 years ?

(a) 1000 . / Rs. 1000 (b) 1200 . / Rs.1200
(0) 900 *®. / Rs.900 (d) 950 %. / Rs.950

T e 1 firie 7 @9 | 4 Hiex Ted At srmal fre § 1 Hiex fhaga ot 81
TN B! A 31 Hiex g1 e o @Y &1 A R =g | fova=n w9y & 2

A squirrel climbs 4 metre of a pole in 1 minute but slips 1 metre in the next minute.
The length of the pole is 31 metres. How much time will the squirrel take to climb to
the top of the pole ?

@) 14 f891E / 14 min (b) 18 THAC /18 min
(© 19 fFE / 19 min d) 21T/ 21 min

TH HHIRI HT YHA da4 40000 ¥ 71 399 F FafaRad wifadr ot St &;
1. UlU® - Gbd dad BT 15%,

2. UD3RU - b da- BT 10%,

3. dRRANT-850%

4. GRS B -150

I g A fpa1 8 ?

The gross salary of an employee is Rs. 40000. Out of which following deductions are
made:

1. PF—-15% of gross salary,
2. HRA- 10% of gross salary,
3. Festival advance - Rs.850,

4. Professional tax — Rs.150.

What is his net salary ?

20



87.

88.

89.

(@) 29000 F / Rs. 29000 (b) 30000 3T/ Rs. 30000
() 26000 %/ Rs. 26000 d) TTH A DI T8I/ None of these

g 3Myfcidhd! ! YITaH BT S arel 12000 04 & foat & foa i &1 8% JAtr iy
& ®gH R faa A &1 29% IR ST & w9 & Frer 5 g, dF yfcdeal o faar
T AR (des YT T 82

If 8% of the bill amount is deducted as penalty amount and 2% of the bill amount is
deducted as TDS from a gross bill of Rs. 12,000 to be paid to the supplier, what is the
actual payment made to the supplier ?

(a) 11160 % / Rs. 11160 (b) 10000 ® / Rs.10000
() 10800 ® / Rs. 10800 (d) 10345 % / Rs.10345

THh B § AJaR BT 50 RIS IR 3= fel § 20 i 31 § 1 AdaR I L&
81 aTdl 30 f&11 & U He I | SHTiged! & Hdl I favait gt 2

A library has 50 visitors on Sundays and 20 on other days. What is the total number
of visitors in a 30-day month beginning with Sunday ?

(@) 500 (b) 600
(© 750 (d 800

TR 3R BIB! & FTOIR Yoo BT AT 3:4 § 3R U GRAR & SUHFT B o aret! AT
BT 3IUIT 4:1 81 GRAR & I 3R HIh! & T BT SFUIT 1A Do ?

The ratio of the market price of tea to coffee is 3:4, and the ratio of quantities
consumed in a family is 4:1. Find the ratio of expenditure on tea to coffee in the
family ?

(a) 34 (b) 3:1
(@] 2:5 (d) 5:2
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90.

91.

92.

93.

94.

g g8 X

Complete the series

1,4,9,16,25 __ , 49, 64.
(a) 35 (b) 36
(c) 40 (d) 42

gfe fdt g0 &1 aawa T uRfY &1 SRIAT 8, df < &1 Y fd-1 81 2

If the area of a circle is twice the circumference of the circle, what is the diameter of
the circle ?

(a) 4 (b) 6
(@ 8 (d) 12

M 4:00 TS °e BT G 3R e B g5 & g fhar f$h &1 wior g 2

At 4:00 PM, the hour hand and the minute hand will form an angle of ?

@  60° (b)  120°
©  90° d)  180°
YT 25 UThidd SAT3f ST T &7 g 2

Sum of first 25 natural numbers is ?

(a) 250 (b) 275

(© 325 (d 200

AT 3R IUF &l Sl BT A 3G 27 &1 A TTH a1 1 31y S < o df 3id oy
31 B S 81 o ) erg faa & 2

The average age of the mother and her two children is 27. If the age of the father is
added, the average age becomes 31. What is the age of the father ?

22



95.

96.

97.

98.

(a) 40 (b) 31

(© 33 (d 43
0 A T ST HH A 6 12, 2/3, 3/4, 4/5
Which of these is the biggest: 12, 2/3, 3/4, 4/5
(@) 1/2 (b) 2/3
(©) 3/4 (d) 4/5

g A 3R B U 1Y B8 HIH B 6 &1 T TR HR Thd & oIg A DI &l B B ga-1 &
ST 8, Y B Y 3hat BTH QRT B H fobe=T GHg @onm 2

If A and B together can finish some work in 6 days, where efficiency of A is twice that
of B, how much time B will take to finish the work alone ?

@  6fd/6days (b) 1214/ 12 days
© 1539/ 15 days d)  18fa&d/18 days

g 1 ditex g # 250 fArefiefiex it firemar S iR R 500 fiediefier fisor e
ferar wme, < fiyeror &1 fpa wfamra g B 2

If 250 ml of water is mixed with 1 litre of milk and 500 ml of the mixture is taken out,
what percentage of the mixture is milk ?

(a) 25 (b) 80

(c) 100 (d) Eﬁﬁﬂ'ﬁg:@[/ None of these

e 3 Taft &1 31 80 & o ¥ Ueh T ) T ¥ i AT 981 €, al 39 al
TRAT3T DT SR FT BRI 2

If the sum of two numbers is 80, and one of the numbers is 3 times larger than the
other, what is the difference between these two numbers ?

(@) 40 (b) 28

(c) 60 (d) S{JHTA "-lﬁ T ST YebdT / Cannot be guessed
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99. T 160 b, M g T | 4 9 BT AT AT &, A 39 2 U H T v & forg
Tfd fobait dgil =gy ?

If the time taken to cover a distance of 160 km is 4 hours, how much the speed
should be increased to cover it in 2 hours ?

() 10 ot /5ieT / 10 km/hr (b) 20 fHHY /geT / 20km/hr
(© 30 fopHt /der / 30m/hr d) 40 foHl /9eT / 40km/hr

100. A 50000 FUY F HALYT TR 2 I8 & AT WYRT TS 8000 T g, TN THM &S & WR
2 9 & fAIW 30000 FTT & HAYF WR a1 &aTe1 BT 2

If the interest earned on Rs 50000 for 2 years is Rs 8000, what will be the interest if
the principal is changed to Rs 30000 at the same rate of interest for 2 years ?

(a) 4000 ¥ / Rs. 4000 (b) 4800 % / Rs. 4800
(0) 5600 ¥ / Rs. 5600 (d) 6000 ¥ / Rs. 6000

101, Foffad § @ gy o1 S IRy &) Sedt g § =6 R 2

Which of the following Language is not mentioned in eighth Schedule of the
Constitution ?

(@) AU / Nepali (b) 3%/ Urdu
()  3FSH/ English (d) et/ Sindni

102. YR & UM & SFTIR 3T F DI Y TG B ASTHTI § ?

According to the Constitution of India, which of the following is the official language
of the Union ?

(a) <arRI faft & f&dl / Hindi in Devanagari script

(b) a@ﬁﬂﬁﬁ%ﬁ/ Hindi in Brahmi script

(c) Wﬁ‘lﬁﬁﬂﬂﬂ/ Sanskrit in Devanagari script
(d) sqﬁ@raﬂ's‘q%ﬁ/ None of these
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103.

104.

105.

106.

107.

TH TSTHTST S{TANT 1 76+ fobdt af foba 1m0 2

During which year was the first Official Language Commission formed ?
(a) 1936 (b) 1947

(© 1955 (d) 1971

YR Tfaem & f6w sy o o=l wiw & fasr & forg fAewr &1 Sa g 2

Which article of the Constitution of India mentions the directive for the development
of Hindi language ?

(@)  3FI=SE 343 /Article 343 (b)  3{I=5¢ 344 / Article 344
(©  3fI®a 351/ Article 351 d)  3TH Y ®Is A8l /None of these

ISTHTST 7 A1 BRIk H fobg AT gRT SR} foha Srar § 2

The annual program of Official Language is released by which ministry ?

(a) 1]_6'1431?1'5[/ Ministry of Home Affairs  (b) WW/ Ministry of Railways
(c) ﬁT&‘ITW/ Ministry of Education (d) “c'ﬂ-ﬁﬁﬂ'lﬁq/ All Ministries

fed) feag e T ST 8 2

When is Hindi Day celebrated ?

(a) 12 \_rFlaﬁ/ 12 January (b) 8'1:I'I?f/8 March
(©) 14 RId™R / 14 September (d) 26 FdaR/ 26 November
Ty TTHTST A # fham T B § ?

How many members are there in the parliamentary committee on Official Language?

(a) 15 (b) 20
(0 25 (d) 30
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108.  ITSTHTT & UIR-UIR &t ¥ § <=1 &1 foem &t & anffera foran man g 2

109.

110.

How many regions has the country been classified into for the purpose of
propagating the official language ?

(a) 2 (b) 3
(c) 4 (d) 5

&=t o1 PRIATYS JM BT URHTST ISTHTST e 1976 & fova fRaw Tren & wnfaa
87

In which rule number of the Official Language Rules, 1976, is the definition of
'working knowledge of Hindi" included ?

(@ 10 by 9
(@ 8 d 7

Fg PR & BTl H TS ISTHT HRI-aaT JHfT Bl 965 AT DR B
JHIIa R ?

What is the time period for holding the meetings of the Official Language
implementation committee constituted in central government offices ?

(a) 1 ﬂ%ﬁﬁﬁWW/Once in T month
(b) 3 nﬁﬁﬁwaﬂ/ Once in 3 months
(c) 6 nﬁﬁﬁwam Once in 6 months
d) 13T TH IR/ Once in a year
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